(1) —fezit

B0 2 FPEN TR E
(BF25%4H 1A~ F3d3H31H)

(HQE : FM)
R VR TRA | AR TR HARR e
I FHEEB S DR
L. FEEIREITA
O HEA PETE A 1 1 0
FEAR Y PEFI B 1 1 O [FEAR M EER S
DL =GN 464, 860 558, 757 A 93,897
HFHRRA 382, 000 476, 257 A 94, 267 [ 3L RR S« RMIZE R
LI UN 82, 500 82, 500 0|MHlE T RE#E I 22404 (FIT)
NG SISt AN 360 0 360| B F KM EFE
©F:3'UN 2, 579 2, 301 278
S BRI 5 10 A S|BEMAFIE., EimEEH A
EERHILA 2, 402 2,073 g0 |LH901. 00T (FLEHREERZ) EAf
FH LR 60 60 0
HEI A 112 158 A 46 %Eﬂ)@%ﬁ—%‘ém% (B¥EE - H57H
FREEIIAGE () 467, 440 561, 059 A 93,619




(HAp7 . T-H)

R MR TRA | ATEE TR Bk e
2. FHIGE I
OFFEFH M 406, 587 520,427 A 113,840
FEIEAE 90, 000 118, 741 A 28, 741|BAVEE K
Ny 2T v 7E 5, 500 33, 401 A 27,901 |BAVEE IR
i 35, 000 72, 505 A 37,505 |JEPXFE (A AEE ST
FERl 13, 000 14, 383 A 1,383 2%:;]%4’%1;% (N I=v27)2)7 #R) @100 X 32
R R 42 41, 000 68, 960 A 27, 960 |5 B (L HeRsAE (Fxh)
ABHHE (REOET) 51,139 51,139 oj—=+ v v k
KESHFEE (REDREI) 26, 174 26, 174 O[f=A T > b
KBHHE (HRFTTE) 2,771 2,771 oj—=A v v k
KT E (= 1) 36, 888 36, 888 0= =T 25 4 —
KRR (KA 5 5,115 5,115 0 iﬁiﬁﬁ@gg;f%%%i@ﬂ
@& B S G 34, 925 33, 567 1, 358
P 5 = 1,779 1,771 8| HRE - B
o ok 4 1y 8, 379 8. 379 0 ?’?EE%\ HFHRRELL . R
[ 2, 950 1,100 1, 850[34) e LR G D) @@ @
fE IR A S 1, 396 1, 396 O|fa = A= 2
Jic R A 3 474 474 o[RS (BHMEET)
S {E SEAR S 250 250 0 %/%é{i/ DR IGE R
ik i B 32 500 900 AN 400\ Ay ) B —JE SRR
LRI 360 360 o| ;A TIEIT (= B 7
EREF S 500 500 0| - FHHAEFLE
JEERBEE S HY 400 600 A 200 -+ ETFKE - A%
PRIBREL S HY 108 108 O[S PRBREE (BME) | EEIRBR
FLBLARR S 16, 500 16, 500 0 gﬁggngf&m ISR
WO 100 0 100| A2 B8
s K 50 50 NS
A 909 909 0 fg%ﬂ%&%%ﬁ:%m%t)\/ﬁc:iﬁféﬂ
SCHATFHORESCHY 870 870 O[HRIA FHOEHS . Rt EBETOR S
HESZH 100 100 0
®F D3 HF 0 0 0
0 0 0
FEFRH A F(B) 441, 512 553,994 A 112,482

FEITEIN S ZEZF(C) =WA) - B) 25, 928 7,065 18, 863




(EA7 : TH)

BA VHITRAE | AT T A B %
I BEIHBIL O
L BEIHENA
OREABEEIA 0 0 0
FEA I 0 0 0
ORFESIA 0 0 0
PRAEGILA 0 0 0
BEIHEINAEEH D) 0 0 0
2. BETEEN S
OFfRFES S H 1,000 0 1,000
O &3 0 0 0
L4 S HH 0 0 0
@ -l A SCH 0 0 0
A S 0 0 0
FeE B A (E) 1,000 0 1,000
B IR EIN 3 AEHH (F) = (D) - (E) A 1,000 0 A 1,000
I BT S D FS
L TR EIA
OfFEALIUA 0 0 0
TS AR 0 0 0
R A 0 0 0
WMBIEBINASE (G) 0 0 0
2. MR S HH
O A 2R3 3 6, 000 6, 000 0
S B AR S 0 0 0
3PN o 6,000 6,000 O Tim Ly () 00T
@FaH 0 0 0
REBM&3H 0 0 0
W BIEE) S A G (H) 6, 000 6, 000 0
MBIEBIN S (1)=(G)-(H) A 6,000 A 6,000 0
IV PEEH () 100 100 0
LN S FER (K) = () + (F) +(D) - (]) 18, 828 965 17, 863
AT AN 3 7248 (L) 10, 963 9, 998 965
YIRS AR () = (K) + (L) 29, 791 10, 963 18, 828




